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STATIC GENERAL KNOWLEDGE
- QUIZ -

1. Which of the following vision and goals has/ have been added in the Constitution
to ban practice of discrimination?

e Declared untouchability as crime and legally abolished it by law.

e Opened recruitment process for government job to all.

e Placed the responsibility of determining special steps to realize Right to Equality for all
people on the government irrespective of major or marginal communities.

O Only 1

O 1 and 3 only

O 1 and 2 only

O All of the above

2. The public health service is a chain of health centres and hospitals run by the
government. What are the obligations of the Government in public health services?

e Government is committed of providing healthcare to all citizens by using the resources
obtained from the taxes.

e Government is committed of providing quality health care services free of cost to all
marginalized people.

e Government is committed to take action to prevent the spread of diseases.

O 1 and 2 only
O 2 and 3 only
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O Only 2
O All of the above

3. Which of the following statements is/are correct with respect to the ‘independence
of judiciary’?

 ‘Separation of powers’ is an essential condition for independence of judiciary.

e Independence of judiciary is necessary for protection of fundamental rights.

e According to it, the legislature and the executive cannot interfere in the work of the
judiciary at all.

O 1and?2

O 2 and 3

O Only 3

O All of the above

4. Which of the following initiatives and core value of the constitution linked to it
is/are incorrectly matched?

e Government should regulate the ownership of land and industry to reduce socio-
economic inequalities. - Equality Principle under Preamble.

e The government should ensure equal opportunity for all. - Socialistic Principle under
Preamble.

e No one should treat a fellow citizen as inferior. - Fraternity Principle under Preamble.

O 1 and 2 only
O 2 and 3 only
O 1 and 3 only
O All of the above

5. Which of the following pairs is/are correctly matched?

e T.T. Krishnamachari - Member of drafting committee and Finance Minister in the Union
Cabinet.

e H. C. Mookherjee - Vice-Chairman of the Constituent Assembly.

e Jaipal Singh - Defence Minister in the Union Cabinet.

O 2 and 3 only

O Only 2

O 1 and 2 only

O All of the above






